MARKOV ANALYSIS EXAMPLE



	PROBLEM: Using transition probabilities of 2010-12, estimate workforce at end of 2013 using the 2012 staffing data, and then using the same transition probabilities, anticipate staffing availability and requirements for year 2014 when full-time jobs are downsized. 




	              Transition Probabilities 
               from 2010-2012

	 
	 
	 
	 
	 
	 
	 
	Current  2013

	Job Category
	Level
	SP
	SF
	ASM
	RSM
	Exit
	No. Employees

	Sales Part-Time (SP)
	1
	.50
	.10
	.05
	.00
	.35
	300

	Sales Full-Time (SF)
	2
	.05
	.60
	.10
	.00
	.25
	200

	Assistant Sales Mgr. (ASM)
	3
	.05
	.00
	.80
	.10
	.05
	50

	Region Sales Mgr. (RSM)
	4
	.00
	.00
	.00
	.70
	.30
	30
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	                                                                         2014 Forecasts

	Job Category
	2013 Employees
	SP
	SF
	ASM
	RSM
	Total
	Total after Exit

	SP

	300
	 
	 
	 
	 
	 
	 

	SF

	200
	 
	 
	 
	 
	 
	 

	ASM

	50
	 
	 
	 
	 
	 
	 

	RSM

	30
	 
	 
	 
	 
	 
	 

	 

	Totals
	 
	 
	 
	 
	 
	 







	                                                                            2014 Forecasts

	Job Category
	2010 Employees
	SP
	SF
	ASM
	RSM
	Exit
	Total after Exit

	SP
	300
	 150
	 30
	 15
	 0
	 105
	195

	SF
	200
	 10
	 120
	 20
	 0
	 50
	150

	ASM
	50
	 2.5
	 0
	 40
	 5
	 2.5
	47.5

	RSM
	30
	 0
	 0
	 0
	 21
	 9
	21

	 
	Totals
	 163
	 150
	 75
	 26
	 167
	



  
	New Requirements for 2014 (difference from 2013)
	

	SP
	400 (+100)
	Expansion

	SF
	150 (-50)
	Reduction

	ASM
	55 (+5)
	Expansion

	RSM
	25 (-5)
	Reduction




	Forecast for Workforce One Year (Beginning of 2014)

	 
	 
	 
	 
	 

	Job Category 
& Level
	Current Workforce  
2013
	Requirements  
for 2014
	Availabilities 
for 2014
	Reconciliation  
& Gaps

	SP
	300
	400
	163
	-140 (Shortage)

	SF
	200
	150
	150
	-0 (Even)

	ASM
	50
	55
	75
	+20 (Surplus)

	RSM
	30
	25
	26
	+1 (Surplus)



